File: Untitled
ILLUSTRATION OF SUPPRESSION
SMURRBLE = standardized presidential greatness

ASSASSIN=whether president assassinated
YEARSOFF=years in office

Pearson correlation matrix

SMURRBLE ASSASSIN YEARSOFF

SMURRBLE 1.00000
ASSASSIN 0.22420 1.00000
YEARSOFF 0.58893 -0.19547 1.00000

Bartlett Chi-square statistic: 22.133 df=3 Prob= 0.000

Matrix of Probabilities

SMURRBLE ASSASSIN YEARSOFF

SMURRBLE 0.00000
ASSASSIN 0.18867 0.00000
YEARSOFF 0.00016 0.25325 0.00000

Number of observations: 36
5 case(s) deleted due to missing data.
Dep Var: SMURRBLE N: 36 Multiple R: 0.68304 Squared multiple R: 0.46654

Adjusted squared multiple R: 0.43421 Standard error of estimate: 0.75177

Effect Coefficient std Error std Coef Tolerance t P(2 Tail)
CONSTANT -1.58683 0.32641 0.00000 . -4.86146 0.00003
ASSASSIN 1.25792 0.46225 0.35280 0.96179 2.72127 0.01030
YEARSOFF 0.27866 0.05491 0.65789 0.96179 5.07457 0.00001

Analysis of Variance

Source Sum-of-Squares df Mean-Square F-ratio 4
Regression 16.31097 2 8.15549 14.43035 0.00003
Residual 18.65035 33 0.56516

Y.X
SMURRBLE ASSASSIN
SMURRBLE 1.00000
ASSASSIN 0.42811 1.00000

Question: What kind of suppression is this?
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